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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. (a) Discuss half life period of determining order of 

reaction. 5 

vfHkfØ;k dh dksfV Kkr djus dh v)Z vk;q dky fof/k 

dks le>kb,A 

(b) Derive the rate expression of zero order reaction.  

    4  

‘kwU; dksfV dh vfHkfØ;k ds fy, O;atd ¼nj 

vfHkO;fDr½ dh O;qRifŸk dhft,A 

2. (a) Write short notes on the following : 5 

(i) Tyndall effect 

(ii) Brownian movement 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i)  fV.My izHkko 

(ii)  czkmfu;u xfr 

(b) Discuss in detail lyophilic and lyophobic colloids 

with examples.   4  

nzo Lusgh ,oa nzo fojks/kh dksykbMksa dks mnkgj.k lfgr 

le>kb,A 
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3. (a) Write short notes on the following : 2, 2, 1  

(i) Mean free path 

(ii) Collision diameter 

(iii) Boyle‟s law 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) ek/; eqDr iFk 

(ii) Vdjko O;kl 

(iii) ckW;y dk fu;e 

(b) Solve the following :   2, 2 

(i) 2x dx   

(ii) 2xe dx   

fuEufyf[kr dks gy dhft, % 

(i) 2x dx   

(ii) 2xe dx  

4. (a) Describe laws of crystallography in detail. 5  

fØLVyksa ds le:irk fu;e dks foLrkj ls le>kb,A 

(b) State and explain unit plane and space lattice. 4 

ek=d dksf‛Bdk rFkk f=foe lajpuk dh ldFku O;k[;k 

dhft,A 



 [ 4 ] CH–03 

B-25 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Draw the structure of NaCl. 

NaCl dh lajpuk dk vkjs[k cukb,A 

2. Write a note on activation energy of a reaction. 

vfHkfØ;k dh lfØ;.k ÅtkZ ij fVIi.kh fyf[k,A 

3. State and explain Hardy-Schultz law. 

gkMhZ&’kwYt+ fu;e dks le>kb,A 

4. Define viscosity and write the effect of temperature on 

viscosity of the liquid. 

‘;kurk dks ifjHkkf‛kr dhft, rFkk crkb, fd fdlh nzo dh 

‘;kurk ij rki dk D;k izHkko iM+rk gS \ 

5. Calculate root mean square velocity of oxygen 

molecule at 27°C temperature. 

27°C rki ij vkWDlhtu ds v.kq dh oxZ ek/; ewy xfr dh 

x.kuk dhft,A 
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6. What are liquid crystals ? How are they classified ? 

nzo fdLVy D;k gaS \ bUgsa dSls oxhZd`r fd;k tkrk gS \ 

7. Define critical temperature. What is its significance ? 

ØkfUrd rki dks ifjHkkf‛kr dhft,A bldh D;k egŸkk gS \ 

8. Write a note on the classification of catalysis. 

mRizsj.k ds oxhZdj.k ij ,d fVIi.kh fyf[k,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks. 

fjDr LFkku Hkfj,A 

1. A catalyst increases the rate of reaction by  

decreasing ........... 

,d mRizsjd fdlh vfHkfØ;k dh nj dks c<+kus ds lkFk gh 

-------------
 dks ?kVkrk gSA 

2. Body centered cubic lattice has a coordination  

number ......... 

ckWMh lsUVMZ D;wfcd tky esa cU/ku la[;k 
---------------

 gSA 
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3. The protective power of lyophilic sol is expressed in 

terms of ........... 

fdlh nzo Lusgh dksykbM dh j{k.k {kerk dks 
-------------------

 }kjk 

iznf’kZr fd;k tkrk gSA 

4. The value of compressibility factor for an ideal gas is 

......... 

fdlh vkn’kZ xSl ds fy, laihMu fLFkjkad dk eku 
------------

 

gksrk gSA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

5. The rain drop tends to be spherical due to surface 

tension. 

o‛kkZ dh cw¡nsa i`‛B ruko ds dkj.k xksy vkdkj xzg.k djus dh 

vksj vxzlj gksrh gSA 

6. Hydrolysis of ester is an example of I order reaction. 

,LVj dk ty vi?kVu ,d izFke dksfV dh vfHkfØ;k dk 

mnkgj.k gSA 

7. sin cos
d

x x
dx

  

Choose the correct answer. 

lgh mŸkj pqfu,A 

8. How many g-moles of O2 gas are present in 96 g of 

2O   ? 

(a) 6 
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(b) 3 

(c) 4 

(d) Cannot be calculated 

96 xzke 2O  esa 2O  xSl ds fdrus xzke eksy mifLFkr gSa \ 

¼v½ 6 

¼c½ 3 

¼l½ 4 

¼n½ x.kuk ugha dh tk ldrh gSA 

9. In which of the following form, data is stored in 

computer ? 

(a) Decimal 

(b) Binary 

(c) Hexadecimal 

(d) Octal 

dEI;wVj esa MsVk fuEufyf[kr esa fdl :i esa laxzghr gksrk  

gS \ 

¼v½ n’keyo 

¼c½ f}pj 

¼l½ ‚kksM’k vk/kkjh 

¼n½ v‛Vk/kkjh 
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10. 1 atmosphere is equal to : 

(a) 760 mm of Hg 

(b) 740 mm of Hg 

(c) 720 mm of Hg 

(d) 780 mm of Hg 

,d ok;qe.Myh; nkc cjkcj gksrk gS % 

¼v½ 760 mm Hg ds 

¼c½ 740 mm Hg d 

¼l½ 720 mm Hg d 

¼n½ 780 mm Hg ds 
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